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BAOHREIT1 0 CEENEBYHEZ ThEl> TWE T2, FNRLAOEFEE TIEE o kEl->TovE
T, WTOHEIE T, 8k, 1 1k CRENHEE TR, 2R UANAOEFETIX ER-> ThE
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K3 HEELLEOERHR - BXANBFROFEHEDLE (cm)
PERI| AR FAE e BB I (A) 2 (B) 7 (A-B)
By 5i%k 110.7 110.5 0.2
194 6k 116.5 116.5 0.0
2 A Tk 122.6 122.4 0.2
TN 3FA 8k 129.0 128.2 0.8
4R 9k 133.6 133.6 0.0
5 54 105 138.4 138.9 A 0.5
6E 115% 145.1 145.0 0.1
¥ 144 125% 153.2 152.4 0.8
HoE 24 137% 159.9 159.5 0.4
RIS 145% 165.4 165.1 0.3
144 157% 168.8 168.4 0.4
TR 24 167% 170.4 169.8 0.6
REED 1755% 171.3 170.7 0.6
By 5i%k 109.7 109.5 0.2
154 6k 115.7 115.6 0.1
2 T 121.4 121.6 A 0.2
TN 3FA 8k 127.0 127.4 A 0.4
4R 9k 133.9 133.4 0.5
L8 S 105% 140.2 140.1 0.1
6FAE 115% 146.5 146.7 A 0.2
+ 144 125% 152.2 151.9 0.3
HFAR 2 135% 155.5 155.0 0.5
SHEAE 145% 157.0 156.5 0.5
144 155% 157.9 157.2 0.7
R 24 165% 158.0 157.6 0.4
SHEAE 175% 158.7 158.0 0.7
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BAOEREIL, 8k, 1 25k, 1 7k CREEHEL EEl-> TWETR, ZALANOFERTILT
B> CWET, ZFOEREIX, 155, 1 7 CREFHMEE B> TWETR, ZRLANOFERT
X FEl>TWET,
HERFRANC AL &0 1 0B R 2EE 4 647, 7B R 2EE 4 5L oTWET,
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x4 FERLEEOFHR - BRAINAEDFEHED L (kg)

PERI | AR AR A i BB IR (A) 4[H (B) 7 (A-B)
b Sk 18.7 18.9 A 0.2
194 6k 21.0 21.3 A 0.3
294 Uz 23.6 24.0 A 0.4
NE=i3 A Sk 27.3 27.1 0.2
A 9k 29.8 30.5 A 0.7
5 5 107% 32.8 34.0 A 1.2
6IEE 115 37.6 38.2 A 0.6
+ 144 125% 44.3 44.0 0.3
H PR 24 137% 48.4 49.0 A 0.6
A 1455 53.4 54.2 A 0.8
1594 155% 58.0 59.2 A 1.2
T 2 165 60.3 61.1 A 0.8
AL 175% 64.1 62.9 1.2
ShHE 5k 18.4 18.5 A 0.1
144 Bk 20.7 20.9 A 0.2
294 Uz 23.2 23.5 A 0.3
TN 3T 8k 25.9 26.3 A 0.4
4 9k 29.6 29.9 A 0.3
L8 54 107% 33.5 34.0 A 0.5
64 115% 38.3 38.9 A 0.6
+ 14 125% 43.2 43.7 A 0.5
H PR 24 137% 46.6 47.4 A 0.8
A 145 49.5 49.9 A 0.4
144 155 52.2 51.6 0.6
1 PR 24 167% 52.2 52.5 A 0.3
A 175 53.2 52.9 0.3
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B OERIL, 6%, 7Tk, 9k, 1 O CREPEHEL FEl> TWETHR, ZNLS OBl T
X EE->TWET, ZFOESIL. Tk, 8k, LIk CREEHEZ FEl> TWETAR, FnLSo
FAERTIXFE U ERl> TWET,

FOERFRBNC A D &L 1 6B+, 1 7TmBF. 1 THREFHPEEFE 1ML, 8B+, 1 2m%B+
NEFEF AN, 1 4RETFNEEFESMER>TVET,
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PERI | A AE ] FAE AE fip B IR (A) 4[F (B) & (A-B)
SR Sk 62.0 61.9 0.1
184 6k 64.7 64.8 A 0.1
294 Uz 67.5 67.6 A 0.1
TN A 8k 70.7 70.3 0.4
44 O 72.5 72.6 A 0.1
5 SRR 107% 74.6 74.9 A 0.3
6 115% 77.6 71.5 0.1
T 14 125% 82.0 81.3 0.7
HAERE 24 137% 85.0 84.9 0.1
T4 145% 88.3 88.2 0.1
14 155% 90.7 90.3 0.4
TR 244 165% 91.9 91.3 0.6
A 175% 92.6 91.9 0.7
ShHE Sk 61.6 61.4 0.2
184 6k 64.5 64.4 0.1
MR Tk 67.2 67.3 A 0.1
INFRR A 8k 69.7 69.9 A 0.2
4 9k 72.8 72.6 0.2
58 SR 10m% 75.8 75.8 0.0
6HEAE 115% 79.0 79.2 A 0.2
T 184 125% 82.4 82.2 0.2
HAERE 24 137% 84.2 83.9 0.3
A 145% 85.2 84.9 0.3
184 155% 85.8 85.4 0.4
AR 24 167% 85.9 85.7 0.2
A 175% 86.4 85.8 0.6




